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1 If demand curve is a "rectangular hyperbola", price elasﬁcity of

demand is :

(1) Perfectly elastic (2) Perfectly inelastic

(3) Relatively elastic (4) Equal to one

e G o CHEOAHR ERUEET & W AR B o @ sel
(1) Yoiam @eEr (2) Yo SEEER

(3) T FEER (4) TBE & UK

2 Which one of the following is not a2 major macroeconomic objective of
the government ?

(1) Sustained economic growth

(2) Low and stable inflation

(3) A high level of employment
(4) A fall in the price of crude oil

mﬁ%ﬁ?m@mﬁwwmﬁﬁaﬁwaﬁ% ?
(1) o s aghs

@) P od Rex g Tl

(3) UMK &1 S &K

(4) w= oW W HEA ¥ H

3 Given money supply (M) = Rs. 200, transaction demand for moriey
(Mp = 025Y and speculative demand for money (M,) = 50 - 200j,
~ the LM equation will be :

() Y = Rs. 600 + 800i
(2) Y = Rs. 200 — 200i
(3) Y = Rs. 250 — 200i
(@ Y = Rs. 750 + 200i
ofy e @ 9 (M) = Rs. 200, 9T @ €&l HT (M) = 0.25Y 8l
gEr @ wEer "M (M) = 50 - 200i & @ LM @@ ¥R
(1) Y = Rs. 600 + 800i
(2) Y = Rs. 200 — 200i
(3) Y = Rs. 250 — 200i
(4 Y = Rs. 750 + 200i
206/ECO_A) -2 WHUWATITY (Coned...
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4

The AR curve and industry demand curve are same in the case of :
(1) Monopoly (2}  Oligopoly

(3) Perfect competition (4) Duopoly

fra ommen W, Mamqaa%ﬂﬂmwwaﬁ%

1) TR @ o

@) ot ot @) zEREmR

Opportunity cost or alternative cost is -

(1) 'Increased cost resulting from the purchase of s some other input in
‘place of existing input

(2) Cost to be paid to retain a factor in its present use-
(3) Amount a factor can earn in its next best use

(4) Total earnings of factors in their present use

ATUL WA AT Jfeas @Fg el -

(1) AT ST & @ R o o A wde ¥ 4w w

QPE{-; .
2) Wwﬁaﬁqﬁmﬁmwﬁﬁm'

3) wwﬁwwmhﬁqﬁmﬂmﬁww

-(4) Y W i T Y Ha e

VMP is defined as :

>
o .

(1) MPP x MR (2) MPP >

B) WxpP - (4) MPP x W
(1) MPP x MR @) MPP « P
(B) WxPp (4) MPP x W

(2067ECO_AL 3 TR (Contd...
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7  Most of the unemployment in India is :

(1) Technological (2) Cyclical
(3) Frictional (4) Structural
TRe H etfirplyr SUSTT ¥

(1) e @ wd
(3) HYOTIER (4 TYETED

8  Which is the most liquid measure of money supply ?

1 M, @ M
G) M, | @ M
oy &1 gEd T A9 B Wy 7
@ M, o @ M,
3) My @ M,

© 6 National income in India is estimated by :
(1) Planning commission
(2) Finance commission
(3) Indian Statistical Institute

(4) Central Statistical organisation

qRa ¥ e o & e feed o RE WM ¥ 7
(1) o e

(2) T smam

(3) W wiiega dEw

4) F=hm wiferal €

10 Cross elasticity of demand between tea and sugar is .

(1) Positive (2) Negative
(3) Zero (4) Infinity
@ X 9N & €= A B oy | A ¥ o
(1) = RHS (2) F=THE
@) 4= @ o
- 206/ECO_AL 4 (NI (Contd...
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12

13

What is the relationship between price of bonds and rate of interest ?

(1) Positive (2) Negative

(3) Ambiguous (4) Neutral

TS B DA R W B W F Sty ww wwy ¥ ?
(1) = (2) =omMerE

(@) o @) wzs

Investment spending includes

(1) Expenditure on new residential housing
(2) Expenditure on new inventories

(3) Expenditure on productive physical capital
(4) All of the above

Tfrarr o & ofafe o ¥
() T amEw T8 w ey
() *H =l w e |
() RS Higs Toi W =Y
@ swE '+

An empirical relation between standard deviation, mean deviation about
mean and quartile deviation is -

() 4SD=6MD=5QD

(2 4SD=5MD=6QD

(3) 6 SD =5 MD = 4 QD

(4) 58D =4MD =6 QD
mﬁﬁa,w%ﬁqﬂqwﬁaﬁqqﬁ%ﬁmﬁw%qwmﬁ%
Y ¥

(1) 4SD=6MD =5 QD

(2) 4SD=5MD =6 QD

(3) 6SD =5 MD =4 QD

(4 5SD=4MD =6 QD

il

206/ECO_A] S MM (Contd.-..
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14

15

16

Which of the following measure is used for calculation of average rate
of growth ?

(1) Geometric mean (2) Arithmetic mean

(3) Harmonic mean (4) Mode
-ﬁwﬁrﬁqaﬁﬁaﬁﬁmwéq%aﬁaﬂwa?aﬁm%gugaﬁ
kP |

(1) i dneg - (2) e

() EOEH A (4 wEEw

For a binomial distn'buﬁon, mean and mode :
(1) . do not .-always exist

(2) are never equal

(3) are always equal

(4) are equal when q=0.50

wh fgue de A ey 3T qgo®

(1) & afga & 98 R

(2) 4 IwER W@ oas

(3) ¥ ;AR B} ¥

(4) X & ¥ Al q=0.50 &

In international trade, 'protectionism' means :
(1)  Restrictive trade policy

(2) Free trade policy

(35 Semi-restrictive trade poljcy

(4) All of above

Fralisdla e ¥ e @ oo ¥
(1) wiysfed wmr My

2) IR =R D

() oE-wiafug s Ay

@) @ﬁﬂﬁ_mﬂ

206/ECO_A] | 6 - [IENTIRAD 1Contd...
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17  Hirschman and Singer support the idea_ of :
(1) Balanced growth 2) Unbalanced' growth
(3) Agricuityral development (4) Industriai development

Eﬂq@ﬁﬂt%&f’ﬂxmmﬂwmﬁ%?

(D) wghie faem ) gl frem

(3) BN fam | @) it R
18  The theory of incidence of tax is given by .

(1) Carpard - (2} Pigou

(3) Masefield (4) Dalton

(1) i @ 9

() TS (4) s

19 Principle of maximum social advantage is concerned with -
(1) Taxation only
(2) Public debt only
(3) Expenditure only
(4) Both taxation and public expenditure

mﬁmmﬁmmwfﬁaﬁ!ﬁﬁaﬁ%:
() hEE s @

@ S wdahE ww

() %ad I F

@) W T g o e

20 The relationship between tax collections and tax rates has been
expressed by :

(1) Laffer curve (2) Lorenz curve |
(3) Indifference curve (4)  Engel's curve
WW@WT&%WW@[@W%:
() W 2 W T
(3) wIET om (4) dfsa aw

206/£C0_A] T
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21 The Agricultural holding ‘tax was recommended by a committee headed
by _
(1) M. L. Dantwala @) K. N. Raj
3 CH Haﬁumantha Rao (4) R. J. Chelliah
o i aT  ReRe T A G & ey A
(1) ©4. Ud. SREE (2) % T TS
(3) 4 @.agq——mm' (4) o} W JeA
22 Currently, the Human Development Index (HD]) is being measured in the
(1) Freedom Perspective (2) Idealistic Perspective
(3) Attainment Perspective . (4) Deprivational Perspective
& 3§, e freew gesiE (D) & A fwn W e ¥ o
() wiwEd o ¥ @) et hder F
() oy wr wiae A @) el uoe A
23 Which of the following deficits is the true indicator of the current fiscal
position ?
(1) Current Account deficit ~ (2) Capital deficit
(3). Revenue deficit (4) Primary deficit
freiifpg ¥ ¥ BT W U adA TomNE Raf B aitis dhds § 2
(1) 9% @K & el () T @\ W
(3) R @ BRI 4y wate =@
24 Rural Infrastructure Development Fund (RIDF) is associated with :
(1) NABARD (2) IDBI
(3) RBI @) ICICI
WWW(W)MWMF)WW%:
(1) & (NABARD) ¥ (2) IDBI ¥
(3) RBI ¥ @ ICICI &
206/ECO_A] - 8 BN tConed...
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25

26

27

28

Basel III is related to :

(1) Non performing assets (NPAs) of Banks
(2) Bank deposits

(3) Bank credit

(4) Capital adequacy of banks

Y@ I & &Y ¢ ¢

(1) ¥F & R Profa onfledi

@) %% o el | '

@) ¥ @@ 9

@ e & I waram @

Union excise duties are a part of central government's :

(1) Non-tax revenue (2) Tax revenue

(3) Capital receipts _ (4) None of the above
Fdlw ST JFE A ¥, S e #) o

Q) T H I B (2) B F™A B

@ T wiwd W @ T ¥ B @

Which of the following is not a component of Bharat Nirman ?
(1) Rural Housing (2) Rural Electrification

(3) Agro based industries (4) Rural Telephony ' '_
B ¥ ¥ B W W P wowew W ¥ 7 ;
(1) TR S (2) wriT R

) @i smenf@ w@rT @) TR ReeE |E

If the outcome is an odd number when a dice is rolled, then the probability
that it is a prime number is equal to :

(1) 13 @) 253

(3) 16 (4 5/6

o el T @ % 9 I frm dem ot ¥ o wn wiwa ¥ B
TE UH MY e B o

1 13 - @ 273

3) 1/6 (4) 5/6

206/ECO_A} ? ~ HRRANGDRY 1Coned..
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29 The standard deviation of the binomial distribution is ;

1) np @ Jop
(3) npq @ Japq
6 4T &1 v fraer g ¢ -

M @
(3) npq @ Jopg

30 If a moderately skewed distribution has mean 40 and median equal to 30,
the mode of the distribution is equal to :

(1) 10 ) 35
(G) 20 4 50
wmﬁmaﬁwﬁrwmaﬂrmmﬁﬁrmﬁ
EHE T

(1 10 (2) 35

(G) 20 @ 50

31 Calculate the value of expenditure multiplier if consumption and investment

(I s 2 10
() 8 @ 9

A B
i) 5 2) 10
3) 8 @ 9

32 In Hekscher-Ohlin theory, the most important cause of the difference in
relative commodity prices and trade between nations is a difference in :
(1) Factor endowments
(2)  Technology
(3) Tastes and needs of people
(4) Al of above

- (2) WaifEy
() W % W o sy
4) Swiwr adt
206/ECO_A] | 10 [IRMING IContd...
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33

34

35

36

Which one of the following is not associated with CES production
function ?

(1) B. S. Minhas (2) Armrow

(3) Solow (4) Chenery

fraifea & ¥ @1 s CES S@Rd Wad ¢ wafeud 78 & 7
(1) & wu. frew 2 W

@) @« @ =

When did India became a member of World Trade Organisation (WTO)?

) 1994 @) 1995
G) 199 (4) 1998
e, 99 SR WS (WTO) &1 998 &9 & 7
(1) 1994 2) 1995
G) 1996 4) 1998

Which of the following was not recommended by the Bretton Woods
Conference ?

(1) International Monetary Fund (IMF)

(2) IBRD

(3) International Labour Organisation

(4) International Trade Organisation

Preifter N ¥ Reua Rreiy ¥27 g5 o6 o0 9 B W @ 7
(1) = GRS (IMF)

(2) IBRD |

(3) S sW e

(@) FFdE =R s

Which of the following is not related to money market ?
(1) Certificate of deposits (2) Commercial paper

(3) Treasury Bills (4) Shares
Praifes ¥ 4 frem o 73 O WF 2
(1) == T 9S ) atiias faus

(3) o Ty 4) =R

206 /ECO_A u - |KRKARIRRY [Comed

e et
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37 Which of the following - is called variance ratio distribution ?
(1) S distribution (2) Z distribution
(3) F distribution (4) t distribution
et & 4. 88 wevwr orpu dest wer o & ¢
1) SFHA @) Z 9z
@ FIF . ... . @ tde
38 If a nation's terms cﬁ_‘_ trade is 2, its trade partner's terms of trade is :
o 4+ @ 2
3 1 ' @ 12 _
u&w&waﬁaﬁnﬁaﬁzﬁ,a}wﬁsmaﬁmaﬁw
CECR o
(1 4 _ @ 2
() 1 @ 12
39 A curve showing the effects of the devaluation of a currency with a fixed
exchange rate on the balance of payments is :
'(1) V curve 2) T curve
3) L curve (4) Backward bending' curve
Rax frfrm ot R orqen ¥, %eﬁgm%maw_mwﬂawaw
T A Wi e ww B § o | |
(1) Vas @ Ta9%
3) L @ I F &R yEm o
40 Who is benefitted by inflation ?
(1) Saver (2) Creditor
(3) . Debtor (4) Pensioner
FARER 31w R W B &2 _
(1) wIa@mat & : (2) FORET @
(3) = ow | @ TR W
206/ECO_A): 12 AR (Conta.
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41

42

43

‘Balanced growth' is the expression used to describe the situation when :
(1) Agricultural sector and industrial sector grow at a similar rate.
(2) Agricultural sector and industrial sector grow simultaneously.

(3) All the sectors of the economy grow at a Similar rate

(4) All the sectors of the economy grow simultaneouisly.
ﬂﬁ%ﬁﬁm’lwmﬁm%mm_MW%mﬁ:
(1) N &3 wd e &5 o9F W ¥ Rem s )

) ﬁm@mmwmﬁmm%l

() odfergen & adl &9 W N w® § fewm w@ ¥

@) odemer % @R 8 T W Rew w@ E

For a normal distribution if mean (p) =30, then its mode value is .

1 1s @ 30

() 60 @ 90

U THHE 9e % fWg Al mew (u)=30 @, o sgE® # AW gen
M 15 @) 30 . |
@) 60 @ %0

Capital output ratio measures :

(1) The amount of capital employed per unit of output

(2) The ratio of capital depreciation to quantity of output

(3) The ratio of fixed capital employed to quantity of output
(4) The aﬁlount of working capital employed per unit of output

" Yol SWrE U e o

(1) wir geord Sames ¥ wgew OOl & wen

(2) Ut T T W TURA B AT ¥ ST
(3) W-Wﬁﬁﬁmﬁw%ﬁmﬁ
() vl T vaT ¥ wged e go

206 /£CO_A] 13 MUAUARR (Cont--
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44 The complete burden of a tax will be borne by the seller, if :

(1) The elasticity of demand for a commodity is same as the elasticity
of supply of the commodity.

(2) The demand for a commodity is pei‘fectly elastic and supply is
inelastic. -

(3) The demand for a commodity is inelastic and supply is perfectly
elastic.

(4) The elasticity of demand for a ct:)mmoditjr is less than the elasticity
of supply of that commodity.

Th HX B W IR Fmear 9w wvm, afr

(1) T wig & 4901 & @ suel ¢ff F @9 F w3
(2) wh wG B AT P MR ¥ wd gff I ¥
() T WG B A W ¥ @ g goiemn weer 3
@) TH g W AT N W ow R @ Wg ¥ ow B

45 'Open Market Operations' refers to :
(1) Borrowing by scheduled banks from RBI
(2) Lending by commercial banks to industry and trade
(3) Purchase and sale of government securities by RBI
(4) Deposit mobilization
GA TR & A P o ¥ o
(1) oqgfaa &9 @10 RBI ¥ Sur &
() =EERE B T Sdv TE AwET @ 9N &
(3) RBI @0 W& wfeqiel & wde o R |

(4) w1 UBHE

46 The headquarters of SIDBI is located in
(1) Lucknow (2) New Delhi
(3) Mumbai . (4) Bangaluru
SIDBI @1 yeama fad ¥ ¢
(1) &= ¥ (2) ¢ Rel A
@ T A @ g A

206/ ECO_A]. 14 NAMINR (Contd...
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47

48

49

50

Which rural schemes were 'merged with Swarna Jayanti Gram
Swarojgar Yojana ?

(1) TRYSEM and MNP (2) DPAP and IRDP

(3) NREP and RLEGP (4) IRDP and TRYSEM

T Tl el @ e s T R A R R T e
(1) TRYSEM &x MNP (2)' DPAP X IRDP

(3) NREP 3t RLEGP (4) .IRDP &R TRYSEM

Which one of the following is not a transfer payment ?
(1) Social security contribution ‘

(2) Pension to retired persons

(3) Interest paid on National debt

(4) Scholarship given to students

Fresifes A @ &9 @ T WO PO ¥ 7
(1) wRe gL SisEe

(2) daFEa @ B feE

(3) U™ R T A

4 B W N EF I BEIN

When the income elasticity of demand for a good is negative, the
good is:

(1) Normal good | (2) Inferior good

'(3) Luxury good (4) None of the above

fell ag A At B o e aR e @ @ 9w e

1) wErE ag ) e g

@) frefea =g (4) vugdw ¥ € HE W

Which of the following economists is not associated with Customs Union ?
(1) Paul Samuelson (2) Jacob Viner

(3) Haberler ) (4) Bela Balassa

Prerifer § ¥ A ol wea W ¥ RER ¥ W et ¥ 7
(1) W dgeE (2) v AEW

(@) TR | (4) A FETE

2067 ECO_AT 18 ARG tcontd...
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